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- First- Question:: (18 marks) , _ , :
© Yara company produces three producfs A,B,C. The following information relatingto... ... .
T iTee productss e - e et e
= e T A product B product - € product: J R
Sellingpriceperunit 3D~ e D G 2
The variable cost per unit J.D : B g e Lk S Heg 18 .
Selling mixing ratio ST ; el 20 o T
Fixed costs for all products 42000 JD | , R
Instruction: )

1. Find the average contribution margin. (2 marks)

2. Find the average selling price. (2 marks)

3. Find the average Variable cost. (2 marks)

4. Calculate the break-even point in units for all products together. (2 marks)

5. Calculate the break-even point in JD for all products together. (2 marks)

6. Prepare Income Statement for all products together. (2 marks) _

7. Calculate the break-even point in units for A product under mix ratio . (2 marks)

8. Calculate the break-even -point in JD for C product under mix ratio and under

average selling price which was calcplated to Instruction Number (2). (2 marks)
Calculate the break-even point in JD for B product under mix ratio and under «
selling price (25 JD). (2 marks)

o

Answer Sheet for Instruction Numbei‘ ) (average sellin rice. ):

----------------------------

.........................................................................................

............................................................................................................

Answer Sheet for Instruction Number ( 3) (average Variable cost. ):

i
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.................................................................................................................

Answer Sheet for Instruction Number ( 4) (break-even poin,t"’.'i'ﬁ units for all products

together. ):

. /"
............................................. H2000.. .= 7502, U,
................................................. e e A FPRe SRR, T o5y D

Answer Sheet for Instruction Number ( 6) (Income Statement for all products together )

Descriptions = Number of Units | Price of Units Amounts JD
Revy Fooo Zo Y Qyéi)o .
Ve Fooo i) (AL 6o0)
ooy Feo= 4 /ﬁl 2000
E.c Fees | (4h. ¥RHeooo)
N - =) )

Answer Sheet for Instruction Number ( 7) (break-even point in units for A product under

mix ratio ): _ Sy

céissucesssenteso0se0s00a0ecs80500000000 0

...............................................................................

....................................................................................................................

Answer Sheet for Instruction Number ( 8) (break-even point in JD for C_product under
mix ratio and under average selling price ):

Nooot:x,B:HZOOO .................. B T s s e L

............................... BRI
............................................. Y.200a..X.28.2.. .84
Answer Sheet for Instruction Number ( 9) (break-even point in JD for B product under
mix ratio and under selling price (25 JD) ):
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_econd Question: (7 marks)

, A company produces a eertain type of products, the fixed cost price per unit of this product is 25
JD, Which constitutes 40% of the total cost. The variable cost of this product is 120000 JD.
Instruction: _
1. Calculate the break-even point in units. (2 marks)

2. Calculate the break-even point in JD. (2 marks)
3. Calculate sales target in the quantities and values at a net profit of 80000 JD, using a

Income equation. With no change The Selling price per unit.

T

F‘C,‘:.gboccjo

Ve = 75@ ! -

Prg= k0

(3 marks)

Answer Sheet for Instruction Number (1) ( break-even poifit in units):

e e Y e e o Kooco e S P

D R A I N RN N R

s600seesverancesessesaseenestsnoas

- v,A"hs‘r&'et-Sbéetvfdf'InStrlfctiﬁn Number ( 2) (break-even point in JD): -

o

seseseseans

..................................................................................

e
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Answer Sheet for Instruction Number ( 3) (sales target in the quantities and vzilues_v at a net
profit of 80000 JD): ="
LT Recent Besco - Loses. 5. .80 a8 ..
........................ 2o
Descriptions Amounts JD *
ooy 2 B¢ aeyf
e W
N ldobos -
_ A @ A < '( Se D ')
N Zooco
g . | The End |
. ; Our wishes by success,,,, e
. Dr. Jamal-Sharairi & Dr. Odeh Bani Ahamad / Accounting Department
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